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Uws: Jara: __ Ouenka:___
7% 10 = —2x10° =
10° = 8,34+ 10" =
10° = 4,83 x 10° =
7,33+ 10 = 4%10=
10* = 3,99+ 10° =
9x 10% = 10° =
—2x10* = 10° =
7,17 x 10 = -2 x10° =
10 = 3x10% =
2x 10" = 6,5+ 10" =
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OBEL- A

TTokazarenu 10

Nwms:

7 %10 =70
10° = 100000

10° = 1000

7,33 +10=0.733
10* = 10000

9 x 10% = 900

—2 x 10* = —20000
7,17x10="71.7
10 = 100

2x10°=2

Tara:
—2 x 10° = —2000

8,34+ 10* = 0.000834
4,83 x 10° = 483000

4 %10 = 40

3,99 = 10* = 0.0399

10° = 1000000

10° = 1000

—2 x 10° = —2000

3 x 10* = 30000

6,5+ 10* = 0.00065
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Orenka:
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